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1. Active: Scientists invented a new machine called cell phone.
Passive: ……….  .

A) Scientists are invented a new machine called cell phone.
B) A new machine called cell phone was invented by scientists. 
C) A cell phone was called by invented scientist.
D) Scientist called cell phone was invented a machine.
E) A cell phone was called by a new machine invented

2. 	Active: They sell very old cars.
	Passive: ………..  . 

A) Very old cars are sold by they
B) Very old cars are sold by them
C) Very old cars are sold.
D) They are sold very old cars
E) By they cars are sold very


3. Old tyres are ……. into the forest, the forests  ……. polluted.

A) dumping- is
B) dumped - are
C) dumper – are
D) dump – are
E) dumping – are








4. Runner shows great …… in marathon  .

A) stamina
B) record
C) finalist
D) weightlifting
E) fast

5. Which choices are environmentally unfriendly?

1. Polluting rivers
2. Protecting fields 
3. Dumping recyclable waste
4. Throwing away newspapers

A) 1-2-3
B) 1-3-4
C) 1-2
D) 3-4
E) 1-2-3-4
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